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100m tEH HBR(2) 1 1 11.27| +0.9|] 1 6 11.12| +2.6
g1l FIR(2) 6 2 11.43| +1.5
P At(2) 12 2 11.23| +0.3
200m M| BER(3) 6 1 22.72] -0.1 1 3 22.45| +0.5
1L 'Tgi(Z) 11 4 24.11| +1.6( 2 6 22.69| +0.4
1@ EER(2) 13 1 23.07| -0.6
200m == @AL(2) 4 5 54.42
AT KZ2(2) 6 1 50.97 6 51.50
M BHR(3) 7 2 49.94 5 50.98
800m AT KZ2(2) 1 1 1:57.20 4 1:57.72
=% @A) 5 5 2:07.32
R %(2) 6 6 2:11.41
1500m | E 18%(3) 1 13 4:40.25
R %(2) 3 14 4:39.36
=0 BE2) 4 14 4:48.13
5000m A E%(3) 2 6 17:32.96
W EARA(2) 2 12 17:51.48
A BBR(1) 2 19 18:35.32
110mH HE 181(3) 2 DNS
400mH HEE 18(3) 3 DNS
3000mSC |G &bh(1) 1 11 11.51.03
4x100mR 3 2 43.09 5 43.02
g1l FIKR(2) Bl FIR(2)
1l B3R (2) &M ¥R (2)
=ik Ath(2) =i Ath(2)
M| BR(3) M| BER(3)
4x400mR 4 5 3:24.26 5 3:24.26 A4 RS
5 HR(3) % FIR(3)
AT KZ&(2) T KZ(2)
=% EXKHEB(2) =% EXE(2)
tEH HhER(2) tEH HRER(2)
EE Bk K IEAREB(2) 1 2m08
ik Ath(2) 8 1m75
F X12(3) 9 1m75
BE (1) oP 1m75
ENEHE F X12(3) 6 6m09| +1.1
Wl #8.297(1) 12 5mo1| -1.2
£F F42(1) 32 5m45| -1.7
=Egbk TB7K IBAEB(2) 1 13m80| +0.5
F %2(3) 3 13m19| -0.4
27 (1) 22 11m63| +0.5
Fati% =H [FZ(1) 11 om77
FI8% 4 BH(3) DNS
Hh ®H(3) 20 18m59
=H [FZE(1) 22 16m85
J\ON—1% =4 B4(3) 10 16m91
= EE(1) 12 15m47
PO &R EA(3) 9 34m86
4 BH(3) 13 32m96
Hh ®H(3) 14 32m33
BRI FTR(3) OoP 23m20
R B2(2) OoP 34m98
MEE BE(3) oP DNS
b4 EH1(2) OoP 40m16
OP100m |#i@ 2=IN(2) 5 DNS
=H HUA(2) 9 DNS
B8 FiE(2) 9 4 11.72| +1.8
L RF(2) 9 2 11.65| +1.8
R B(2) 14 DNS
0 ER2(1) 17 2 11.76| +2.0
RE $/§(3) 17 7 12.43| +2.0
£F F42(1) 23 1 12.26| +1.1
A #(1) 23 2 12.32| +1.1
LEHH 1B5/R(2) 26 4 13.35| +0.5
OP3000m |&% WE(1) 3 7 10:37.95
HFO BA2) 3 8 10:38.23
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100m ALY OBUA(3) 3 3 13.22| -0.5] 2 7 13.12| +1.2
R HOE(2) 4 3 13.61| -0.4
AR ERHI(3) 6 3 13.49| +1.0
200m A HOE(2) 2l 5 28.20] +0.4
ALY OBUA(3) 3 5 27.25| +1.1 3 7 27.16] +1.1
AT SEH0(3) 6| 4 28.89] -0.8
200m AH =2(2) 1 2 1:02.35
=11 B75(3) 3 6 1:07.54
=M BRQ) 5 DNS
800m KH 3E(2) 5 2 2:28.28
100mH__ |4 2888(3) 2 s 1:12.38
400mH |4 B888(3) 1 3 16.10] +1.0
5000mW |85 mas(2) 2 29:28.22
4x100mR 3 3 50.87 7 57.48
FARE #3R00(3) AN #LIRN0(3)
HE BEO%(2) R BOE(2)
At BREB(3) Rt BBIE(3)
SAAY OBUA SAIAY OYUA
4x400mR 2 2 4:12.99 9 4:12.99 A4 RS
A4S IREE(3) AT IBEE(3)
KH ZE(2) KH E(2)
HE XDE(2) HRE KDE(2)
=) #5(3) =)l E46(3)
E= Pk 21 thit(1) 7 1m45
X% B #h1E(1) DNS
Kk AA (3) 20 6m19
OP100m |IA B2 F(1) 2 7 13.47] +2.1
=l #5(3) 5 3 13.83| +3.4
J\FK 7 )j’(l) 5 7 14.24| +3.4
B th1E(1) 6 5 14.59| +0.6
ZEH #3%E(2) 7 DNS
B B2(2) AE 14.48) +1.3
A BRA(3) 9 3 15.02| +1.4

TFHRE 1241 (13R)




